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(2) Bl A 58EE (m)
mo = SE B = 33.8 N/uf
L= 100

L-o>T m = 33.8 N/t

(3)/kEAL FEE(W/C) m -15.6 + 26.3 X C/W

W/C 26.3 — (33.8 + 15.6) X 100 = 53 % = [55%<L{:’E'<f )]

“W/C = %
(4) Hfr k& (W) WTHEOFELEIC otw W = 175 ke /ni
(5)HfrE A b (C) C =W =~ (W/C) X 100 = 175 = 53 X 100 = 331 ke/mt
Cv= C + B = 331 - 3.04 = 109 #/ni
(6)ZE5 & (A) A = 4.5 % X 1000 = 45 2/

(7)BNCHEME(G) YHIHoFEEIZEY »EFME = 0.584 i/t ERER = 58.0 %
Gv = 0.584 X 1000 X 58.0 =+ 100 = 339 £ /ni
Glv = Gv X 50.0 % = 170 ¢ /m Gl= GIvXRWEE = 170 X 2.66 = 452  kg/m
G2v = Gv X 50.0 % = 169 £ /m G2= G2yXFEWEE = 169 X 2.66 = 450 kg/nt
(8) HALMIEM & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 668 = 332 £ /m
Slv = Sv X 50.0 % = 166 £ /m S1= SIvXHKEERE = 166 X 2.65 = 440 kg/m
S2v = Sv X 35.0 % = 116 #¢/m S2= S2yXHEHEE = 116 X 2.62 = 304 kg/mi
S3y = Sv X 15.0 % = 50 2/ S3= S3yXEHEF = 50 X 2.76 = 138 kg/ni

(9) B (s /a) s/a = Sv - (Gv+Sv) X 100 = 49.5 %
(10) BN IR A& (Ad) Ad = C X INZE = 331 X 0.5000 % = 1.66 kg/m
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